	BID DUE: FEBRUARY 2, 202		**Patrick's Uniforms		*A-1 Uniforms, LLC			
			Garden City, GA		Savannah, GA			
	ITEM/DESCRIPTION	EST. QTY	BRAND	UNIT PRICE	TOTAL	BRAND	UNIT PRICE	TOTAL
1	Uniform Trouser (Male) – Flying Cross #3900 or approved equal – Standard size	150	Elbeco	\$50.99	\$7,648.50		\$52.22	\$7,833.00
1A	Oversize – 44"-48" Waist	45	Elbeco	\$54.99	\$2,474.55		\$57.22	\$2,574.90
1B	Oversize – 50"-60" Waist	10	Elbeco	\$60.99	\$609.90		\$59.22	\$592.20
2	Uniform Trouser (Female) – Flying Cross #3900W or approved equal – Standard Size	40	Elbeco	\$50.99	\$2,039.60		\$52.22	\$2,088.80
2A	Oversize – Size 20-22	10	Elbeco	\$54.99	\$549.90		\$57.22	\$572.20
2B	Oversize – Size 24-26	5	Elbeco	\$60.99	\$304.95		\$59.22	\$296.10
3	Uniform Long Sleeve Shirt (Male) – Flying Cross #33W78Z or approved equal - Standard Size	25	Elbeco	\$40.99	\$1,024.75		\$53.22	\$1,330.50
3A	Oversize – 2X - 3X	10	Elbeco	\$42.99	\$429.90		\$61.22	\$612.20
3B	Oversize – 4X- 5X	5	Elbeco	\$45.99	\$229.95		\$62.22	\$311.10
4	Uniform Long Sleeve Shirt (Female) – Flying Cross #126R78 or approved equal – Standard Size	10	Elbeco	\$40.99	\$409.90		\$53.22	\$532.20
4A	Oversize – Size 44-48	5	Elbeco	\$42.99	\$214.95		\$61.22	\$306.10
4B	Oversize – Size 50-52	2	Elbeco	\$45.99	\$91.98		\$62.22	\$124.44
5	Short Sleeve Uniform Shirt (Male) – Flying Cross #85R78Z or approved equal – Standard Size	130	Elbeco	\$36.99	\$4,808.70		\$46.22	\$6,008.60
5A	Oversize – 2X - 3X	45	Elbeco	\$38.99	\$1,754.55		\$53.22	\$2,394.90
5B	Oversize – 4X- 5X	5	Elbeco	\$40.99	\$204.95		\$55.22	\$276.10
6	Short Sleeve Uniform Shirt (Female) – Flying Cross #176R78 or approved equal – Standard Size	20	Elbeco	\$36.99	\$739.80		\$46.22	\$924.40
6A	Oversize – Size 44-48	10	Elbeco	\$38.99	\$389.90		\$53.22	\$532.20
6B	Oversize – Size 50-52	5	Elbeco	\$40.99	\$204.95		\$55.22	\$276.10

		ð	**Patrick's Uniforms		*A-1 Uniforms, LLC			
			Garden City, GA		Savannah, GA			
	ITEM/DESCRIPTION	EST. QTY	BRAND	UNIT PRICE	TOTAL	BRAND	UNIT PRICE	TOTAL
7	Uniform Tactical Trouser (male) – VERTX #VTX8001 or approved equal – Standard Size	700	First Tactical	\$57.99	\$40,593.00		\$52.22	\$36,554.00
7A	Oversize – 46" – 50" Waist	90	First Tactical	\$57.99	\$5,219.10		\$58.22	\$5,239.80
7B	Oversize – 52" – 54" Waist	15	First Tactical	\$57.99	\$869.85		\$63.42	\$951.30
8	Uniform Tactical Trouser (Female) – VERTX #VTX8050 or approved equal – Standard Size	170	First Tactical	\$57.99	\$9,858.30		\$52.22	\$8,877.40
9	Short Sleeve Polo Shirt (Male) – VERTX #VTX4000 or approved equal – Standard Size	685	First Tactical	\$40.99	\$28,078.15		\$33.22	\$22,755.70
9A	Oversize – 2X	105	First Tactical	\$40.99	\$4,303.95		\$37.22	\$3,908.10
9B	Oversize – 3X	40	First Tactical	\$40.99	\$1,639.60		\$39.22	\$1,568.80
9C	Oversize – 4X-6X	20	First Tactical	\$40.99	\$819.80		\$44.22	\$884.40
10	Short Sleeve Polo Shirt (Female) – VERTX #VTX4010 or approved equal – Standard Size	5	First Tactical	\$40.99	\$204.95		\$34.22	\$171.10
11	Short Sleeve Uniform Tactical Shirt – VERTX #VTX8100 or approved equal – Standard Size	25	First Tactical	\$40.99	\$1,024.75		\$44.37	\$1,109.25
11A	Oversize – 2X-3X	15	First Tactical	\$40.99	\$614.85		\$53.25	\$798.75
11B	Oversize – 4X-5X	5	First Tactical	\$40.99	\$204.95		\$64.33	\$321.65
12	Blazer for Blue Coat (Male) – Edwards #3500 or approved equal – Standard Size	15	Edwards	\$67.99	\$1,019.85		\$56.22	\$843.30
12A	Oversize – 50-52	5	Edwards	\$71.99	\$359.95		\$67.22	\$336.10
12B	Oversize – 54	1	Edwards	\$79.99	\$79.99		\$72.22	\$72.22

	DID DUE. FEDRUARY 2, 202		**Patrick's Uniforms Garden City, GA			*A-1 Uniforms, LLC Savannah, GA		
	ITEM/DESCRIPTION	EST. QTY	BRAND	UNIT PRICE	TOTAL	BRAND	UNIT PRICE	TOTAL
13	Blazer for Blue Coat (Female) – Edwards #6500 or approved equal – Standard Size	5	Edwards	\$67.99	\$339.95		\$53.22	\$266.10
13A	Oversize – 22-24	1	Edwards	\$71.99	\$71.99		\$56.22	\$56.22
13B	Oversize – 26-28	1	Edwards	\$79.99	\$79.99		\$67.22	\$67.22
14	Short Sleeve Shirt for Blue Coat (Male) – Edwards #1110 or approved equal – Standard Size	30	Edwards	\$24.99	\$749.70		\$20.22	\$606.60
14A	Oversize – 2X	8	Edwards	\$27.99	\$223.92		\$26.22	\$209.76
15	Short Sleeve Shirt for Blue Coat (Female) – Edwards #5313 or approved equal – Standard Size	2	Edwards	\$24.99	\$49.98		\$20.22	\$40.44
15A	Oversize – 2X	1	Edwards	\$27.99	\$27.99		\$26.22	\$26.22
16	Trousers for Blue Coat (Male) – Liberty #600MHG or approved equal – Standard Size	30	Liberty	\$35.99	\$1,079.70		\$27.22	\$816.60
16A	Oversize – 44"-50" Waist	8	Liberty	\$40.99	\$327.92		\$34.22	\$273.76
17	Trousers for Blue Coat (Female) – Liberty #600FHG or approved equal – Standard Size	6	Liberty	\$35.99	\$215.94		\$31.22	\$187.32
17A	Oversize – Size 20-24	1	Liberty	\$40.99	\$40.99		\$36.22	\$36.22
18	Cold Weather Jacket - Flying Cross Style # 59130WP or approved equal - Extra Small - 5XL	100	Elbeco	\$169.99	\$16,999.00		\$170.22	\$17,022.00
19	Reversible Duty Jacket - Spiewak Style# S-315V or approved equal - Small - 5XL	100	Spiewak	\$215.99	\$21,599.00		\$189.22	\$18,922.00
20	Corrections Jacket - Portwest Softshell Jacket, Style# UTK50 or approved equal - Small - 5XL	60	Portwest	\$50.99	\$3,059.40		\$60.22	\$3,613.20

			**Patrick's Uniforms			*A-1 Uniforms, LLC		
			Garden City, GA		Savannah, GA			
	ITEM/DESCRIPTION	EST. QTY	BRAND	UNIT PRICE	TOTAL	BRAND	UNIT PRICE	TOTAL
21	K9 Jacket - Rothco Soft Shell Jacket, Style# 9745 (No Substitutions) - Extra Small - 6XL	5	Rothco	\$139.99	\$699.95		\$100.22	\$501.10
22	K9 Long Sleeve Shirt - First Tactical Defender Top, Style# 111004 (No Substitutions) - Small - 4XL	15	First Tactical	\$92.99	\$1,394.85		\$99.22	\$1,488.30
23	K9 Trousers - First Tactical Defender Pant, Style# 114002 (No Substitutions) - 28"-54" Waist	15	First Tactical	\$150.99	\$2,264.85		\$159.22	\$2,388.30
24	SWAT Long Sleeve Shirt - First Tactical Defender Top, Style# 111004MC (No Substitutions) - Small - 4XL	10	First Tactical	\$110.99	\$1,109.90		\$125.00	\$1,250.00
25	SWAT Trousers - First Tactical Defender Pant, Style# 114002MC (No Substitutions) - 28"-44" Waist	10	First Tactical	\$200.99	\$2,009.90		\$220.00	\$2,200.00
26	Ballistic Vest Panel Set - Safariland SX02 II Panel Set#1219793 (No Substitutions)	20	NO BID		\$0.00		\$740.00	\$14,800.00
27	Ballistic Vest Shirt Carrier - Safariland U1 Uniform Shirt Carrier (No Substitutions)	20	NO BID		\$0.00		\$200.00	\$4,000.00
28	Ballistic Vest Carrier - Safariland M2 Concealable Carrier# 1348925 (No Substitutions)	20	NO BID		\$0.00		\$100.00	\$2,000.00
29	Sewing on of Shoulder Patches	850		\$2.25	\$1,912.50		\$2.50	\$2,125.00
30	Waist/Hip Alterations	15		\$15.00	\$225.00		\$25.00	\$375.00
31	Hemming	850		\$10.00	\$8,500.00		\$6.00	\$5,100.00
32	Embroidery	1100		\$10.00	\$11,000.00		\$6.00	\$6,600.00
	SUBTOTAL				\$193,005.14			\$196,949.27

	BID DUE: FEBRUARY 2, 202		**Patrick's Uniforms			*A-1 Uniforms, LLC		
			Ga	rden City,	GA	Savannah, GA		
	ITEM/DESCRIPTION	EST. QTY	BRAND	UNIT PRICE	TOTAL	BRAND	UNIT PRICE	TOTAL
33	Duty Belt - Dutyman 5071 2 1/4" Basketweave Leather Duty Belt (No Substitutions)	60	Dutyman	\$74.99	\$4,499.40		\$72.22	\$4,333.20
34	Velcro Inner Belt - Dutyman 5121 1 1/2" Baksetweave Buckle-less Inner Belt (No Substitutions)	100	Dutyman	\$34.99	\$3,499.00		\$29.22	\$2,922.00
35	Duty Holster (RH) - Safariland Model 7395 7TS ALS Low ride Duty Holster - 7395-835-481 (No Substitutions)	40	Safariland	\$115.99	\$4,639.60		\$126.00	\$5,040.00
36	Duty Holster (LH) - Safariland Model 7395 7TS ALS Low Ride Duty Holster - 7395-835- 482 (No Substitutions)	10	Safariland	\$119.99	\$1,199.90		\$126.00	\$1,260.00
37	Concealment Holster (RH) - Safariland Model 7376 7TS Hi- Ride Slide Concealment Holster - 7376-835-411 (No Substitutions)	15	Safariland	\$49.99	\$749.85		\$50.00	\$750.00
38	Concealment Holster (LH) - Safariland Model 7376 7TS Hi- Ride Slide Concealment Holster - 7376-835-412 (No Substitutions)	5	Safariland	\$49.99	\$249.95		\$50.00	\$250.00
39	Expandable Baton - ASP 21" Airweight # 52412 (No Substitutions)	40	ASP	\$150.99	\$6,039.60		\$160.00	\$6,400.00
40	Baton Holder - TUFF Expandable # 7723-BW-21 (No Substitutions)	40	TUFF	\$17.99	\$719.60		\$29.00	\$1,160.00
41	Belt Keepers - Bianchi Model 7906 Accumold Elite # 22091 - Pack of 4 (No Substitutions)	60	Bianchi	\$11.99	\$719.40		\$16.00	\$960.00
42	Handcuffs - Chicago Model X55 Stainless Steel Handcuffs # CHX55 (No Substitutions)	60	NO BID		\$0.00		\$19.22	\$1,153.20

			**Patrick's Uniforms			*A-1 Uniforms, LLC		
			Ga	rden City,	GA	Savannah, GA		
	ITEM/DESCRIPTION	EST. QTY	BRAND	UNIT PRICE	TOTAL	BRAND	UNIT PRICE	TOTAL
43	Handcuff Key - Zak Tool Knurled Flat Grip Swivel Key # ZT9P (No Subsititutions)	60	Zak Tool	\$7.99	\$479.40		\$7.00	\$420.00
44	Handcuff Case - TUFF Single Handcuff Case # 7710-BWH-1 (No Substitutions)	60	TUFF	\$29.99	\$1,799.40		\$33.00	\$1,980.00
45	OC Spray Holder - Blackhawk Molded Chem Agent Pouch Large MK4 # 44A501BW (No Substitutions)	60	Blackhawk	\$29.99	\$1,799.40		\$32.00	\$1,920.00
46	Magazine Pouch - Blackhawk Staggered Column Double Mag Pouch # 44A001BW (No Substitutions)	60	Blackhawk	\$47.99	\$2,879.40		\$45.00	\$2,700.00
47	Flashlight Nightstick USB - Dual-Light Rechargeable Flashlight # USB-578XL (No Substitutions)	80	Nightstick	\$139.99	\$11,199.20		\$109.22	\$8,737.60
48	Flashlight Holder - Perfect Fit USA Flashlight Holder # 307- BW-HS (No Substitutions)	80	Perfect Fit	\$23.99	\$1,919.20		\$26.22	\$2,097.60
49	Key Holder - Zak Tool Tactical Key Ring Holder #ZT-54-55 (No Substitutions)	60	Zak Tool	\$10.99	\$659.40		\$7.00	\$420.00
50	Epaulets (All Ranks) 0 Premier Emblem Brand Epaulets - Set of 2 or approved equal	35	Premier Emblem	\$6.99	\$244.65		\$17.90	\$626.50
51	Deputy Sheriff Star Badge - Blackington Six Point Star Badge # B682 (No Substitutions)	40	VH Blackington	\$91.99	\$3,679.60		\$141.22	\$5,648.80
52	Deputy Sheriff Star Badge with Rank - Blackington Six Point Star Badge # B818 (No Substitutions)	20	VH Blackington	\$91.99	\$1,839.80		\$141.22	\$2,824.40

BID DUE: FEBRUARY 2, 2022 @ 2:00 P.M.

			**Pat	Patrick's Uniforms		*A-1 Uniforms, LLC		LLC
			Gai	rden City,	GA	S	avannah, G	Α
	ITEM/DESCRIPTION	EST. QTY	BRAND	UNIT PRICE	TOTAL	BRAND	UNIT PRICE	TOTAL
53	Round Badge - Blackinton Six Point Star Badge with Outer Ring # B2905 (No Substitutions)	15	VH Blackington	\$99.99	\$1,499.85		\$150.22	\$2,253.30
54	Radio Holder - Bianchi Model 7914S AccuMold Elite Universal Radio Holder with Swivel # 22113 (No Substitutions)	60	Bianchi	\$55.99	\$3,359.40		\$57.22	\$3,433.20
55	Tie - Samuel Broome Black Clip On Tie #900 or approved equal	20	Samuel Bloome	\$7.99	\$159.80		\$8.00	\$160.00
56	Tie (Male - Blue Coat Employee) - Samuel Broome Clip On Tine # 614 or approved equal	5	Samuel Bloome	\$7.99	\$39.95		\$8.00	\$40.00
57	Tie (Female - Blue Coat Employee) - Samuel Broome Crossover Tie with Pearl Snap # 36050-614 or equal	5	Samuel Bloome	\$9.99	\$49.95		\$7.50	\$37.50
	SUBTOTAL				\$53,924.70			\$57,527.30
	TOTAL				\$246,929.84			\$254,476.57

*MBE

**WBE

Procurement Specialist